LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL						
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-51836-66f6cef823b3c VERIFY.FTGS.US Date : September 27, 2024						
Seller (Exporter) BRAZILLIAN PROFESSIONALS LLC 28001 Dorothy Drive	Transport Typ Air	De	Port of Loadi ATL	Port of Loading ATL			
Agoura Hills California 91301 United States	Destination C Qatar	country	Destination F DOHA	Destination Port DOHA			
Consignee	Export Date 2024-09-26		Exporting Ca	Exporting Carrier			
MADI INTERNATIONAL TRADING CO. WLL AL HAMAD REAL ESTATE BUILDING AL SADD STREET P.O BOX:23412, DOHA Qatar	Import Permi		Bill of Lading	Bill of Lading / AWB *************			
	Owner or Age			Forwarding Agent ************			
Buyer (Importer) Remarks SO# 2579789, PO-QAT-002542 Consignor reference: SO# 2579789							
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Package	s.)	Weight	Country of Origin			
22P06A 34oz Original BB Solution w/Pump			70 KG	United States			
H.S.Code: 3305.20.0000 Marks: 54 PCS			Net: 65 KG				
H.S.Code: 3305.20.0000 Marks: 54 PCS 22R01C 12 oz Acai Anti-Frizz Color Shampoo			60 KG	United States			
H.S.Code: 3305.10.0000 Marks: 132 PCS	COL		Net: 55 KG				
11R04 8 oz Acai Deep Conditioning Masque	1		30 KG	United States			
H.S.Code: 3305.20.0000 Marks: 72 PCS			Net: 25 KG	444444			
22R02C 12 oz Acai Anti-Frizz Color Conditioner			20 KG United Sta				
H.S.Code: 3305.20.0000 Marks: 36 PCS CATE OF ORIGIN			Net: 15 KG	KANANA KA			
22P15 16oz Professional Ionic Cleanser ited Chamber US2100201			25 KG	United States			
H.S.Code: 3305.20.0000 Marks: 48 PCS			Net: 20 KG				
22P45 12oz/350ml Ionic Bonding Spray			15 KG	United States			
H.S.Code: 3305.20.0000 Marks: 24 PCS			Net: 10 KG				
11R03 8 oz Acai Daily Smoothing Serum			25 KG	United States			
H.S.Code: 3305.20.0000 Marks: 60 PCS AMBERS FEDER			Net: 20 KG				
	E OF ORIGIN MINDER US2100201	 The above-mentioned goods origin origin applicable in the country(ies) The information in this certificate or Commerce ("LAACC") is accurate, the The Applicant undertakes to advising Certificate (or to whom the Certificate of any inaccuracy, omission or chainated The Applicant will maintain, and pri truth, accuracy and completeness of Inconsideration for the LAACC's is 	nate in the country(ies) speci to those goods. and in any documents provid rue and complete. e LAACC and any other perso ate is provided to with the kn nge in such information, or in resent upon request, such do of this certificate and accom isuance of this Certificate, th vility in connection with the is or claims made against LAA	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.			

LA-COO-51836-66f6cef823b3c / September 27, 2024

LOS ANGELES AREA	CERTIFICATE	OF ORIC	CIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-51836-66f6cef823b3c VERIFY.FTGS.US Date : September 27, 2024					
Seller (Exporter) BRAZILLIAN PROFESSIONALS LLC 28001 Dorothy Drive	Transport Type Air Destination Country	Port of Loading ATL Destination Po				
Agoura Hills California 91301 United States	Qatar	DOHA				
Consignee	Export Date 2024-09-26	Exporting Carri	Exporting Carrier ********			
MADI INTERNATIONAL TRADING CO. WLL AL HAMAD REAL ESTATE BUILDING AL SADD STREET P.O BOX:23412, DOHA	Import Permit Number	Bill of Lading /	Bill of Lading / AWB *************			
Qatar	Owner or Agent	Forwarding Ag	Forwarding Agent ************			
Buyer (Importer)	Remarks SO# 2579789, PO-QAT-002542 Consignor reference: SO# 2579789					
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	(ind of Packages)	Weight	Country of Origin			
22R14 3.4oz BB Ionic Bonding Spray		5 KG	United States			
H.S.Code: 3305.20.0000 Marks: 12 PCS 22R15 12oz BB Volume Shampoo		Net: 4 KG				
22R15 12oz BB Volume Shampoo H.S.Code: 3305.10.0000 Marks: 12 PCS	CO.	8 KG Net: 7 KG	United States			
22R16 12oz Volume Conditioner H.S.Code: 3305.20.0000 Marks: 24 PCS	ARRCH	15 KG Net: 10 KG	United States			
22P44 24oz/710ml Prof. Acai Deep Cond. Masque Back Bar H.S.Code: 3305.20.0000 Marks: 30 PCS CATE OF O	RIGIN	25 KG Net: 20 KG	United States			
11M47 2 3/8" Comb/Brush Applicator edited Chamber U H.S.Code: 9603.29.0000 Marks: 10 PCS	1 KG Net: 1 KG	China				
end of products						
REA CHAMBED	The above-mentioned goods originary origin applicable in the country (ie - The information in this certificate Commerce ("LAACC") is accurate, - The Applicant undertakes to adv Certificate (or to whom the Certific of any inaccuracy, omission or ch - The Applicant will maintain, and - The Applicant will maintain, and truth, accuracy and completeness - In consideration for the LAACC's - In consideratin for the LAACC's - In consideration for the labor - In consider	jinate in the country(ies) specifie s) to those goods. s and in any documents provided true and complete. se LAACC and any other person(cate is provided to with the know ange in such information, or in th present upon request, such docu s of this certificate and accompan issuance of this Certificate, the A ability in connection with the issu d/or claims made against LAACC	nentation as is necessary to verify the nying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.			

Coi	mmerci	ial In	voice

BRAZILIAN I	pro fession <i>a</i> ls ⁻
-------------	---

SO#2579789

1 1

DATE OF EXPORTATION	N: 9/26/2024							P	AGE 1 OF 1
SHIPPER INFORMATION	۷:				CONSIG	GNEE IN	FORMATION:		
BRAZILIAN PROFESSIO							FIONAL TRADI		
329 JOE FRANK PORTE							ESTATE BUILDI	٩G	
MOUNT PLEASANT, TN 3 377-779-7706	36474) STREE1 X: 23412	I		
JSA					DOHA, C				
					001.04, 0				
FEDERAL TAX ID# : 32-0	0459179				TERMS	OF COM	SIGMNENT:	EXW	
					COUNT	RY OF D	ESTINATION:		
		HS CODES	COUNTRY	UNIT WGT		UOM			
ITEM #	ITEM DESCRIPTION		OF ORIGIN		QTY		UNIT VALUE	EXTENDE	D PRICE
22P06A	34oz/1L Acai Original Solution w/ Pump, Dosage Cup, SDS	3305.20.0000	USA	1.40	54	PCS	\$ 157.50		8,505.00
22R01C	12oz/350ml Acai Anti-Frizz Shampoo	3305.10.0000	USA	0.50	132	PCS	\$ 7.65		1,009.80
11R04	8oz/240ml Acai Deep Cond. Masque	3305.20.0000	USA	0.40	72	PCS	\$ 9.00		648.00
22R02C 22P15	12oz/350ml Acai Anti-Frizz Conditioner 16oz/475ml Prof. Ionic Cleanser	3305.20.0000 3305.20.0000	USA USA	0.50	36 48	PCS PCS	\$ 8.10 \$ 21.38		291.60 1,026.24
22P15	12oz/350ml Ionic Bonding Spray	3305.20.0000	USA	0.50	24	PCS	\$ 18.00		432.00
11R03	80z/240ml Acai Smoothing Serum	3305.20.0000	USA	0.30	60	PCS	\$ 8.55		513.00
22R14	3.4oz/100ml Ionic Bonding Spray	3305.20.0000	USA	0.40	12	PCS	\$ 6.75		81.00
22R15	12oz/350ml Volume Shampoo	3305.10.0000	USA	0.50	12		\$ 7.65		91.80
22R16	12oz/350ml Volume Conditioner	3305.20.0000	USA	0.50	24	PCS			194.40
22P44	24oz/710ml Prof. Acai Deep Cond. Masque Back Bar	3305.20.0000	USA	1.00	30	PCS	\$ 22.50		675.00
11M47	2 3/8" Comb/Brush Applicator	9603.29.0000	CHINA	0.10	10	PCS			(10.00)
	1 PALLET								
	50 CTNS								
	40"X48"X33" IN								
	TOTAL WEIGHT 660 LBS (299 KG)								
		-							
		-							
	Promo Item Discount							\$	(10.00)
	TOTAL				514			\$	13,467.84
certify under the penalties of	of perjury that the above items, quantities and prices are true and accurat	e to the best of my					-		
knowledge:	120 10 10 10 10								
AN	YCL HCRNANDCZ								
	Angel Hernandez			PROFESSI		LLC		9/26/2024	
Signature & Title of Shipp	er Freight Coordinator		Na	ame of Shipp	er			Date	

THESE COMMODITIES, TECHNOLOGY OR SOFTWARE WERE EXPORTED FROM THE UNITED STATES IN ACCORDANCE WITH THE EXPORT ADMINISTRATION REGULATIONS. DIVERSION CONTRARY TO U.S. PROHIBITED



BRAZILIAN **PRO**FESSIONALS

28001 Dorothy Dr. Agoura Hills, CA 91301

Pack Slip: 425247	: 425247	Packing Slip	Page: 1 of 1
Ship To:	MADI International Trading Co. WLL Al Hamad Real Estate Building Al Sadd Street P.O. Box: 23412	Sold To:	MADI International Trading Co. WLL Al Hamad Real Estate Building Al Sadd Street P.O. Box: 23412
Phone: Fax: Email:	h.fatouh@qa.madi-intl.com	Phone: Fax: Email:	h.fatouh@qa.madi-intl.com

Phone::

877-779-7706

Ship Via: LTL Carrier

Line Shipped Qty Part Number/Description Sales Order: 2579789 Your PO: PO-QAT-002542 1 22P06A / 34oz/1L Acai Original Solution w/ Pump, Dosage 54.00 EA Cup, SDS 2 22R01C / 12oz/350ml Acai Anti-Frizz Shampoo 132.00 EA 3 11R04 / 8oz/240ml Acai Deep Cond. Masque 72.00 EA 4 22R02C / 12oz/350ml Acai Anti-Frizz Conditioner 36.00 EA 48.00 EA 5 22P15 / 16oz/475ml Prof. Ionic Cleanser 6 22P45 / 12oz/350ml Ionic Bonding Spray 24.00 EA 7 11R03 / 8oz/240ml Acai Smoothing Serum 60.00 EA 8 22R14 / 3.4oz/100ml Ionic Bonding Spray 12.00 EA 9 22R15 / 12oz/350ml Volume Shampoo 12.00 EA 10 22R16 / 12oz/350ml Volume Conditioner 24.00 EA 11 22P44 / 24oz/710ml Prof. Acai Deep Cond. Masque Back 30.00 EA Bar 12 10.00 EA 11M47 / 2 3/8" Comb/Brush Applicator

> 1 PALLET 50 CTNS

40"X48"X33" IN



TOTAL WEIGHT 660 LBS (299 KG)